had bounced back to $24 per barrel. And the elf of
France had virtually took Airway the deal from
under 10C's nose by acquiring  the
premiere oil. The RBI which gave IOC the
approval for $15 million investment, took more
than a year for clearing the deal because the
structure for such investments were not in place,
it was reported. .

Questions :

(a) Discuss whether it is the domestic or global
environment that hinders the
globalization of Indian Business.

(b) Even if it had not acquired premier oil, what
would have been the impact of the delay in
the clearance of IOC? ’

(¢) What are the lessons of this case?
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M.B.A. DEGREE EXAMINATION, JUNE 2014.
‘Fourth Semester
International Business
FOREIGN TRADE POLICY
(2012—-13 Batch onwards)
Time : Three hours Maximum : 100 marks
PART A — (5 x 6 = 30 marks)
Answer any FIVE questions.

1. Discuss the features that differentiate domestic
trade from international trade.

2. What are the benefits of international trade?

3. Critically examine Adam Smith's theory of

absolute cost.

4. Explain tariff barriers with suitable examples.
5. Write short notes on the mozoégm”

(a) Anti-dumping duty.

(b) Countervailing duty.
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